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° Annie is writing the fact family for this bar model.

19 R y

4 4 b
N VN L4

0 The bar model shows these facts: ) 5 v 3 R
5+3=8 She writes y = 19 + 31
8-3=5 a) Explain why Annie is incorrect.

What other facts does it show?
2+5:=9 8=3+5 83=5+17
§-5=3% 3=8-5S 5=%-3

3\ isthe tokoh o \9 — (_\°\+3=3\\J

b) Write the fact family for this bar model.

Aty =3\ 3\ =194y
J N
u+\9 = 3) 3\ =y +\9
0 Write the fact families for these bar models. J JV
3\ -y =9 14=23\ -y
a) J N
) 8 9 - 8+a=13 12=8+ 9 3\ -14 =Y %__3\_\0\
AQ+8 = (7 12 =9+%
7-9=% 3=13-9
p - o Write the fact family for each bar model.
) 17 © \2-8=19 A:=(2-8
a)
; h oyt =\ h=1u4+19
b) ¢ >
\ = =
) 23 ~ 18+45=23  23=(8+S Arll=ln h = \A+ly
S+\g =23 23 =S+1¢ h=\A =Y \w =h-\9
3-S5 =18 1% =23-5 14 19 h-u={a A=Wh-ly

23-1% =S 5 =23-\1¥
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b) =
b) 30 30 x
4 y hd 34 |'§
< P 4 y y y y y y 30 = X
30 + =
‘ 52 ' 30 + =
. . . c N _
o Write two addition facts and two subtraction facts for each bar model. ) 0.310.310.3l0.30.3l0.30.3l0.3l0.3l0.3
a) p X =
d k hd 8 | §
A | m L4
a Draw a bar model to represent each fact.
a) )
b) 51.6 = 82.3 - 30.7 k=23x4
d 50 | §
A | n LA p L4
b) d) 108
o Use the bar models to complete the facts. g+38=152 6 W
a) 15=3x
15
313 (3] 3]3 15 =5 x
15 + =
What other related facts can you see from your bar models? O
15 + =
&)





















